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Answers to non Verbal Reasoning week 15
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The top code relates to inner shading.

% %
4l = P Mystery shape starts witha P

The bottom code relates to shape.

2

So the code for the mystery shape

N

is PY

“
G| [G][H][1][1]
A B C D E

72. A

The top code relates to number:

I=U The mystery shapes top code is U

The bottom code relates to shape (see the repetition of | with the repetition of the circle?) The

iy

[l

mystery shape has triangles. L=-=* [=G
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So the bottom half of the mystery code is G.

The mystery code is UG

RENERCIN
J Y] Y] v
A B C D

The top code relates to position (of the black shaded area)

7 L
Y Y
- =I. The mystery shape starts with IL_—

The bottom code relates to rotation, which you can see from the long internal line. The mystery
shape has the long internal line going vertical, like shape T

So the mystery code is IT

_lAlla][B][A][B]
H ][] [w] [w] [v]
A B C D E

74.C

The top code relates to direction (pointing)
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=B

Mystery shape points to the west, like B, so the top part of the mystery code is B.

<

Bottom code relates to the number of shapes (it is the only thing that 3 different letters and three
different shapes)

|
i
So the mystery code for the shape —lisBW

jv]z] v 2] [
S [ o] [ [
A B C D E

75. A

Top line of code relates to number of lines the shape has

V

Bottom line of code relates to outline of large shape.

X=2 sides =Y Mystery shape is o ly Top codeis Y

=L Mystery shape has solid outline e

So the mystery code for the shape is YL
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